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Quant Mega Quiz for SSC CGL Tier - 2 (Solutions)

S1. Ans.(d)
Sol. For maximum value
a=b=—c=—d==

4

(1+a)1+b)1+c)1+d)

~(1+) () (+3)(+3)

S2. Ans.(a)
Sol.
# = ﬂ,w + bw +c
Vad+52+1
1 2 1
25 +25+1

1
On multiplying numerator and denominator by (25 — 1)

1
25 -1 2 1
= 5 T =a.23+5.254+ ¢
(25—1)(2§+2€+1)
1
25 -1 2 b 1
=@, 23 .23
S 1 a 1 +c

~a=0b=1¢6= —1
atb+c=0+1<1=0

S3. Ans.(b)
Sol.
_ W5+l 4541 VE+1
ATVE-1 T Vi1 \E+1 6 Months Subscription

C(VE+1) 5414245

e SSC CGL

2
TIER-Il MAHA PACK
b= 3 — '\,.'{g
2 = = Test Series, Live Classes,
a+b=3+‘5+3_”5=3 Video Course, Ebooks
2 2
B+ 1 5-1 e
W W
and ab = * =1 : -
NI e Bilingual (with e-Books)

1 | www.bankersadda.com www.sscadda.com | www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://www.adda247.com/product-onlineliveclasses/4569/ssc-cgl-tier-ii-maha-pack-live-classes-test-series-video-course-e-book

a*+ab+b® (a+b)’—ab
a’—ab+b?® (a+b)?—3ab
3-1 9-1 8 4

33-3 9-3 6 3

S4. Ans.(c)
Sol.

x=(atVaZ + 03 + Ya— Va2 + b

On cubing both sides.

3
x3=(aJa+ @t b+ a,—a.r"a,2+1:-3)

3

3

=(Ela+m) +(m) + 3(ja+m)(ﬂ _JT)

rja-l— az+b3+ja—u’az+b3J

SN e SN = | N 2 | A ) 8

1
=2a+3(a?—a?—bH3x
~xi=2a+3(-b)x
x*+ 3bx = 2a

S5. Ans.(c)
Sol.

Average of x and $= M

1
x+§ 1
= =Mx+-—=2M
2 X

On squaring both sides

1

(x +—) = (2M)*
-
1

x4+ —+ 2 =4M?
2

1
=>x+—==4M? -2
22

T |
, 1 xX +t-7
A = — =
verage x +x2 5
4M2 -2 2(2M?-1) .
= = , = 2M- —1
2 2
S6. Ans.(d)

Sol.

-t L, 1 _
a+b_z+x-“3+2—x-’3 4 and,
ab = 1, P4 1r =1

Z+v3 2—v3
:>1+1 a—|—b_4

a b ab
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S7. Ans.(a)

Sol.

(a® + 4b* + 4b — 4ab — 2a — 8)
=(a—2b)* —2(a—2b)—8
=x?—2x—8 where(a—2b) =x
=x—4x+2x—8
=x(x—4)+2(x—4)
=(x+2)(x—4)
={a—2b—4)a—2b+2)

S8. Ans.(b)
Sol.

a® —b? =56 (1)
a—b=2
wa—b*=(a—b)(a®+b*+ab)
56 = 2 (a® + b* + ab)

28 = [(a — b)* + 3ab]

ab =8

(a—b) =a®+b%—2ab

a® + b? =20

S9. Ans.(b)
Sol.
= \.'{E+ \."'E
=2a=114+21/30 & b =11-2y30
&ab=1
= Za® — 5ab + 2b°
= 22+ 430 — 5+ 22 — 430
=44 -_5=39

$10. Ans.(d)
Sol.
x=3+2¢2

1 =
=>—=3-2v2
"

1 1
Bx+-—=6&x—— =42
X

X
=>x3+xia= 198 & x3—$=140v§
S11. Ans.(c)
Sol.
@ +b?+ =4
Puta=hb=1

Thus,a® + b? =2

ENGLISH

BY
NEETU SINGH

12" May
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S12. Ans.(d)
Sol.

x+§= V3
A | 1 1
(x+—) =x +—3+3.x.—(x+—)
X X X X

1
3WV3=x+5+3x3
X

1
=0
X

S13. Ans.(c)

Sol.

x3+3x*+3x=7
x*+3.x01+31%x+13-1¥=7
(x+1)P2-1=7

(x+1) =58

Xx+1=4%2

x=1

S14. Ans.(b)
Sol.

$15. Ans.(c)
Sol.
2x+—=6
3x

Multiply hy% both sides,

3 +1 9
x R
2x

S16. Ans.(a)
Sol.

x=(VZ-1)7
= }-

V2-1
2__ 1 —
x _\E—l (M’E-l-l)

~=(2-1)
xz—xlg=(»’§+1)—(ﬁ—1)

=2
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S17. Ans.(d)

Sol.

x*+y?—2x+6y+10=0
(x*—2x+1)+(*+2.y.34+9)=0
(x—1)P+(y+3)*=

x=1, y=-3

x*+yi=1+9

=10

S18. Ans.(a)
Sol.

1 1 1
x2 4 yE = 73
Cubing both sides,

1 1

1
x+y+3(x§+y§){xy}§=z
1 1
x+y+3(z)F(xy)Z ==
1
(z+y—z)=-3(xyz)?
Again cubing both sides,

(x+v—z)*=—-27xyz
(x+y—2z)* +27xyz=0

$19. Ans.(d)
Sol.
a’=2,then(a+1)
a=v2
(a+1)=(2+1)
Now, check from option, (d)
a-1 _ (V2-1)  (V2-1) (3+2/2)
3-2a 3-2(v2) (3-2v2)(3+2/2)
=32+4-3-22

=(V2+1)

S20. Ans.(a)
Sol.

Ifx + i = /3, x® = —1 & power difference of 6 =0

xZDE-+x:U<I+x9[1 +x§44 +xlﬂ +x12+x!’:+1

R
o 0 0 D

=0
S21. Ans.(b)
Sol.
A
D E
Q
B P C
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£DAQ = £LEAQ
£AQD = £AQE = 90° TEST SERIES

AQ is common in AAQD and AAQE. Bilingual
~ A AQD = AAQE
~AD = AE

S22. Ans.(d)
Sol.

D P

59 Total Tests | eBooks

B

Let centre of circle is ‘0" and
Radius=rcm
PC=13-r,PD=13+r
PC=PD=PA = PB
=2(13—r)(134+r)=9x 16
= r=5cm

S23. Ans.(a)
Sol.

~ £ABC = 25°

And £BOC = 40°

~ /LBCD = 20°

£LBPC =180° — £PBC — ABCP
ZBPC = 1807 — 25° — 20°

£BPC = 135°

- £BPD = 180°-135°

£BPD = 45°

S24. Ans.(c)
Sol.

£ADB=90° [~ angle in half circle)
ABCD is a cyclic quadrilateral

< £ BAD=180- £BCD

= +BAD = 180 - 130° = 50°
£ABD =180°-(£ADB + £BAD)
£ABD = 180-(90° + 50°)

LABD = 40°
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$25. Ans.(c)
Sol.

Common tangent of two touching circle =/ 4R+
[(where R and r radius of both circle)

J4R,R; = \J4R,R; + \/ 4R;R,
2VEX9IX4=,4X9IXR; +/4XxXR; X4
12 = /R3[6 + 4]

R; =144 cm

S26. Ans.(c)
Sol.

B L
~AB=AC

S LABC = £ACE

ZABC + £ACEB = 180° - 20°
~ LABC = 2ACE =80°

Use Sine rule:

In A ADE,
sin 20° __ sinZABD
BD _ AD

= BD = A}..'.!.s':n 20 {I]
zin £LABD

In ABDC,

sin LBDC  sin a0®

Bc BD

X @

sin LBDC

From [i) and [ii) we can say
AD sin 20° _ BC sin 80°

sin ZABD  sin £BDC

£BDC = £ABD + £ DAE

Let £FABD = x*
£in 20° gin 80°

) = — (+AD=BEC)
sin x® sin(20+x)"

sin(20+x)  sin80°

sinx sin 20°
sin 20%cot x + cos 20° = 4 cos 20° cos 40°

sin 20°cot x + cos 20° = 2 cos 60° + 2 cos 20°
sin20%cotx = 1 4+ cos 20°
2 cos” 10°
2gin 10° cos 10°
cotx = cot 10°
x = 10°
S~ £DBC = 80°—10° = 70°

cotx =
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S27. Ans.(c)

Sol.
£ADP = 100° (Given)
~ ZPDE =809

£DPE = 90° [Angle of half circle]
~ #/PED =180 - (£DPE + £PDE)
£PED =10°

In same way

£QDE = 10°

~ Consider A DRE

£DRE =180° - (£RDO + £RED)
£DRE =180° - (10° + 109)
£DRE =160°

~ #/PRD = 180°- +DRE

£PRD =180° - 160° = 20°

S28. Ans.(d)

Sol.

£PCEB = 180 — £BAP
LZPCE = 180 — 60

LPCE =120°
$29. Ans.(c)
Sol.

Smaller circle passes through '0' and touches outer circle at P
~ OP will be a diameter of smaller circle

Then #0ORP = 90° {angle of half circle]

So we can say OR L SP

+~ SR =PR (+ 5P is chord of outer circle)

SR =+05% — OR?

SR =+/5% — 42
SR=3cm

SP =3 cm
S30. Ans.(a)
Sol.

AC and BD are two chords intersecting at '0’
0A=x0OC=0D=x= 0B
And AC is angle bisector of 2ZDAB
~AD:AB=0D:0B
w AD = AB
~0D=0B
OD = 0OB=0A=0C
oD® _ gx8

0A=22=28 2 pa=16
ac 4

S~AC=161+4=20cm

Complete Preparation for
SSC Exams

SSC

EXTREME

Video Courses, Test Series,
eBooks
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